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1 a How many moles of magnesium bromide are formed when Mg + Br, — MgBr;
3.0 moles of magnesium reacts with 2.0 moles of bromine?

b How many moles of ammonia are formed when 4.0 moles of N, + 3H, — 2NH;
nitrogen reacts with 9.0 moles of hydrogen?

¢ How many moles of iron oxide are formed when 12.0 moles of iron 4Fe + 30, — 2Fey0;
reacts with 6.0 moles of oxygen?

2 4.8 g of magnesium is reacted with 4.5 g of steam. Work out which is the limiting reagent and then calculate
the mass of magnesium oxide formed.

Mg + H,O — MgO + H,

3 2.0 g of calcium is reacted with 0.32 g of oxygen. Work out which is the limiting reagent and then calculate the
mass of calcium oxide formed.

2Ca + O, — 2Ca0
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